
www.troax.com

Follow me

A
rt no

: 88754500 ver. 01       P
rint no

: 201911-4386-E
N

 Double Hinged 
door 

AC Lock

Kit  36907740, 36800240

Warehouse 
Partitioning



13mm

Double Hinged door ASSA Cylinder

www.troax.com

A
rt

 n
o

: 8
87

54
50

0 
ve

r. 
01

 

2/6

5mm

Kit 36907740, 36800240

Kit 7740 MHL UX AC L Hinge 36907740

Quickdrilling screw 4,2x13 20500350

4,2x13
x15

Bag for kit 7740 88697730

Kit 405 UX acc. Hinged dbl 36800240

Bag for kit 405 36800515

x1 x1 x1 x1

x1 x1

x1

x1

x1

x2
M8x65

x11
M8x35

x3
M8x35

x2
M5x16

x2
M5x20

x17
M8

x3
M8x45

x2

x2

x2

x2

x1 x1x1

x2
M8x45

x7
M8x35

x1
M8x35

x2
M8x16

x10
M8

15x8x10

3mm
89

05
11

52

36
90

15
89

36
90

15
99

36
90

15
79

36
90

16
09

36
90

16
29

36
90

16
19

89
05

11
00

89
20

00
00

89
05

07
59

36
90

01
09

36
70

00
45

89
20

01
26

89
05

01
38

89
05

01
39

89
05

00
45

89
05

00
42

89
05

02
09

89
05

01
36

89
05

05
25

26
50

31
19

26
50

31
29

36
50

10
19

89
05

00
82

x2

89
05

07
59

89
05

05
25

89
05

01
38

89
05

01
39

89
05

00
42

89
05

01
09

x2 x2

89
20

01
25

89
20

01
24



www.troax.com

A
rt no

: 88754500 ver. 01 

3/6

3

13mm

5mm

13mm

5mm

Kit 36907740, 36800240

1
13mm

Bag for 
kit 7740

M8x65

M8

M8x45

M8x35

M8

M8

Bag for 
kit 7740/405

Bag for 
kit 7740

2

4



www.troax.com

A
rt

 n
o

: 8
87

54
50

0 
ve

r. 
01

 

4/6 Kit 36907740, 36800240

5

6
13mm

7

13mm

5mm

Door≥1200mm

=

4,2x13

M8x35

M8

Quickdrilling screw 4,2x13

Bag for 
kit 7740

> 2400



www.troax.com

A
rt no

: 88754500 ver. 01 

5/6Kit 36907740, 36800240

8

11
13mm 5mm

12

Bag for 
kit 7740

Bag for 
kit 7740

M5x16

M8x35

M8

Kit 7740Bag for 
kit 7740

9
3mm 3mm

M5x20

10
1
2
3

3
2
1

56



www.troax.com6/6 Kit 36907740, 36800240

A
rt

 n
o

: 8
87

54
50

0 
ve

r. 
01

 

14

Kit 405 UX + Bag for kit 405                             
+ Bag for kit 7730

Kit 7730

M8x35 M8 18x10,3x4

13
5mm13mm


